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— ; QUWG &L Qwipgwt | g | Uhunnh wuubipp
Uhgwlghl Ynnp Gpwgwyw dhwyn u
PV ittty (nGpwgwlywnag) hwynpp ghup (npw)
nuuwlupguuib
1 2 3 -4 5 6 7
Uwypwupukp i
1 Juntihp Upgnyp Ypwd 1 471000 471000
Qphhwljpuh Unpgnyp Ypwd 1 950000 950000
adbpltp L wwpaltn ULl winpnip Ywd 1 100000 100000
4 zundwljupgsujht Unpgnip Mwd 1 750000 750000
5 Uwubwghinwlub hwgniun hwnnt wpinwhwgniun b yupuqubkp Ukl wnpymp Iwd 1 55000 55000
6 Stunbumluh Upgnyp Awd 1 465000 465000
[EUPALGI W0 JERAIGNWT GURUWUENT DWUGH (quiqupa
; qhtbkpunanp) Quulipdwl hupgnud npud 1 1500000 1500000
Juwpugniypbbkp b 2Gpnwydwpwgnipikp Ukl wnpmp npud 1 160000 160000
9 Yuhnyp Ungny)p npud 1 950000 950000




10 Uynpunughb wypubpbkp Uty wnpjnip npud 1 100000 100000
11 “HEnnpuyp Ukl wnpnip npuud 1 40000 40000
12 Spuljubmpnth Ukl wnpynip npud 1 640000 640000
13 Nuwunybpny nyugpynn ymphp ULl wnpjnip npwu 1 145000 145000
14 uuniniquppuihb gppnyly b nuwbnnuljub wndu UEY wnpynip npwu 1 89000 89000
13 tlE4nwlwl uwpptn L uwnppwynpniabtn Guwbpuwh hupgnud | gpuyd 1 41000 41000
14 huywpws L gunyuwé onip ULy wnpmp npu 1 70000 70000
dhbwbuwlwb yappniénipjwb L hwpuwwwhwlywb
48440000 hwiwywnpgswihb spwgpwjiht hwpbpltn PoUL Mpw 1 50000 50000
24911200 Unutidnn Wymplp buntujhw 0.5 g G2 hwwn 10 500 5000
24911200 unuhbé,thgnyh G2 hwwn 2 2300 4600
24951130 up hynbl punctylbn CZ hwwn 10 2300 23000
42121150 Ny 7% hun 1 75000 75000
42661200 Ywnép gnnuljnipbpny qnndwb uwnptn wujw|Ghy ¥4 hun 1 3200 3200
44111411 Yy gputiniupnt Gz 1hwnp 100 600 60000
44118000 rhrtn, ghtjwuwwwn, sSEnwnwywh, ynnuuwuyw CZ 5 122 2600 317200
44119000 tnwiutnwy, thuwjunjuw c2 g 15 170000 255000
44192100 wnthyhbheinphnh (pve) thpthnip Gz huin 6 2000 12000
44192610 gk, 2hbwpwpwyuwb - G2 Sl 3 1000 3000
44192700 hnpnyuly bplupupulut wphwnwbpbtp junwpline hwdwp B hwin 2 1400 2800
44192400 quo, ghujuwh C2 lg 420 85 35700
hninJuw{ b uyntq GEpjupupuijut wpliwnwtptip junuphint
44192702 |huniwp e hwn 30 150 4500
44311151 dEnwnwywl pwqiwbquiw oginwgnpdiwl wipwlwwtp(fudnin) cz hwtn 21 1000 21000
44511101 dtrph gnpdhpltn / |ndhly/ G hun 1 4500 4500
44511140 pintbglbn G2 hun 1 4500 4500
44511240 wpgwblbtn L huin 3 1400 4200
44511260 hnjwpnine CZ Ukwnp 5 1000 5000
44511330 wunnunwuwhwbtn G2 huin 8 750 6000
44511340 qujthynl 6 Yunadn o hwwn 2 1400 2800




44511341 quylhynb 3 (e¥4 huin 4 300 1200
44511342 qujlhynb 4 Gz huwn 4 500 2000
44511343 quylhynti 6 oA huwn 4 700 2800
44511370 gnpéhpltph hwywpwénibbp /Yupguwynpynn pwlwih/ N2 C2 hun 1 5000 5000
44511370 anpdhpltinh hwywpwénibtin /yunguwynnynn pwbwip/ N3 cZ hun 1 8000 8000
44511400 anpdhpltnh dwutn / pwhh Ynp/ o huwitn 10 800 8000
44511500 Upwpwptp thnpp T2 hun 3 1100 3300
44521120 Puljwbbbph dwubp 7ud G2 hwwn 10 1500 15000
44521121 Qulwbbtph dwubp 8ud 7 hwn 20 2300 46000
44521170 Ynnutpltn C2 hun 6 1600 9600
44523200 Udpwlkp uunh N2 (oA hwitn 2000 6 12000
44531128 hiuptwghwg mwthonulyny 7 ud (094 hwwn 200 30 6000
44531129 hiplwglhug mwthonulyny 4ud G2 hwwn 300 20 6000
44531159 qlntiphpltn L ywnnunwylbn(quljynuuw) ' hwwn 400 20 8000
44531300 wunninwuqud 644 4 hutn 300 40 12000
44821000 dwOpwhwwnwyh (wp (%) Uhinagpwd 15 2700 40500
44832000 Lnishshtip (¢4 " 1hup 5 1200 6000
44921500 Stthwidwséhy ghyuwihl CZ g 360 150 54000
44531300 wwnninwwagwyd 844 » (o¥4 huwitn 300 60 18000
22211100 Plpplp Lnpm dupq PLUL npud 2 9000 18000
22211300 MNupplpuful hpuypupuynditp Eynindhju PLULZ npud 1 48000 48000
22212100 MNuwpppwljul hpwywpulnuditp Gnpsp PCULZ npud 1 48000 48000
22451210 nhwjndltn BCUZ npud 130 2700 351000
Clnudkup 8153400
Ownuwjnipjnth
1 qugh pwfuntd POUZ npwd 1 7000000 | 7000000
2 tiEYunpwywinipwlb pwfuntd PLU2 npud 1 2800000 2800000
3 Ywpuwjwwnwl thnpdwplonipjwb dwrwjnipintbltn Ukl wnpjnip npuid 1 370000 370000
4 pwOluyhb SwrwjnipnibOtn ULy wnpnip npwy 1 30000 30000




5 nnUGLwhG woywbnudbtn Ukl wnpnip npud 1 12000 12000
6 fudtiint onh pwizfuntd FLUZ npuu 1 100000 100000
7 Yehgwnuwyht wnph hwywpdwl Swewynipntbltn PLUZ npw 1 100000 100000
8 hwlpuyhb hErwtunuwihb Swewnipntbitn PCUZ npwu 1 1612000 1612000
9 ®nunnwhl swpwympniikp BOUZ npwd 1 70000 70000
10 tleyuinpnbwhb unnpwapniejw b hwyjwunwagndwb Swepwjnipntbbtp gL npud 1 6000 6000
11 Juipuwjwinwl wynhsbbnh inBnwnndwl wrwjnipinibbtn ULl wnpmp npwy 1 150000 150000
12 wfuwiinwyhgltiph Yepwywnpuunidw b swepwynigntbGotn ULy wnpjnip npwd 1 250000 250000
ninLnpwhnfuwnnnn wyunnoGpGhwlGnph qupdwfuwinientt™ Juwpnpnh
13 htn Shwuh( ULy wnpynip npud 1 229000 229000
14 pEpRENNL hwjinwpwpnigntbbtiph wwywapswh swewjniegntl ULy wnpnip npud 1 200000 200000
15 anyugnuihl swewynipntbltn ULy wnpnip npud 1 330000 330000
16 hjnipwlngltipnid phwlyGint swewynipinibbtn Shwlodwh hupgmd | ppud 1 50000 50000
Swpwnpwlbwihb L npnpwyh hwdwhunpnbbph hwiwp bwhiwnbudwsd wj) ULl wnpnip
17 hwlpwjhl ublinh opjtynbtiph dwwnnigws SwrwynipnLhbtn npwd 1 250000 250000
80491100 | UnpWlw YshnpnGh gnpdwnynud /wdwg nwinngh (hgtghuw/ FEUZ syl i 25000 25000
72411100 hwiwgwbguhl dwewynienibibp dwnnignnlbn (isp) G2 npud 1 600000 600000
50311240 Zudwljupgswiht vwppbph yEpwbnpngdut Swnwynipmibikp G2 npud 1 150000 150000
50311250 Nuwndkhwhwinn vwppbph yuhywindwb swrwympmbibp 52 npud 1 200000 200000
Cuudkup 14534000
Cunhwbnip 22687400
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